UNIVERSAL COLUMN PROTECTOR HD INSTALLATION SHEET

CP0700-1100-5100
CP1000-1100-5100

06

1 Universal Column Protector HD contains:

x12 X8

Screw 6,3x80mm ZC Concrete screw 7,5x60mm ZC

Column protector part

1 Box contains:

Screw 6,3x80mm ZC Concrete screw 7,5x60mm ZC

Column protector part

Required Tools

Optional concrete screw installation

Torx
T-30

Required Tools

Cut to size
J¥ Indicated number = size of column

pA Assemble

K1 Mark location of the concrete screws (x8)

—
boplan

For more information, please visit www.boplan.com
Rev: 5 January 2018 4:08 PM

FLEX IMPACT®

BY BOPLAN



%
65
A

e

@@l

5x60mm (x8)

1

E Install concrete screws 7

=
<<
=
o
(=3
==}
>
@®

d

Drill holes (x8)

S

&
)

V===

SF &7 &/
S/ &/ &

S/ &/ &
/& &
S/ &/ &)

\
TIYTIYS

=)

7

H Disassemble

Optional concrete screw installation

E Remove dust

x12)

(

,3x80mm
plan

E Install swrews 6




